THE WEST AFRICAN EXAMINATIONS COUNCIL, ACCRA
JUNE 2019 BASIC EDUCATION CERTIFICATE EXAMINATION
FINAL MARKING SCHEME
MATHEMATICS
QUESTION SOLUTION MARKS
NO.
1. (@) |[X ={4,56,738,9,10,11,12,13) B1 for X = {4,5,6,7,8,9,10,11,12,13}
¥ ={3,6,9,12,15,18) B1 for Y = {3,6,9,12,15,18}
XNY=1{69,12) M1AL1 for X n Y= {6,9,12} at least one
element correct
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5=5? B1
9=32 B1
LCM=3?x5 M1 for 3°x 5
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= 45 Al for 45
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Sp+10q="7p M1 for expansion CAO
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p+2q=7—() M1
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Put (2) into (1)
5+2q=7 M1
2q=2
q= 1 Al
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QUESTION SOLUTION
NO.
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5 4

16x+20+5x-15 _ 1

20
2lx+5=-20
2lx=-20-5
21x=-25
x=-;—§or—1%

®)i) [ 12=120

25=120x =
12

T G | 1204250 =370 Koy and gitls

ALITER
(i) | Total Ratio =12 +25 =37
Total No = = x 120
=37x10
=370
@ | No of girls =370- 120
= 250

Q i) Total No of Boys and girls = 370

M1 for finding common
multiple of 4 and §

M1 for clearing fraction
M1 for solving

M1 for simplification
-25 4

Al for —=or -1

M1 for the equivalent

erfor ratio

M1 for simplifying

|'ATfor 250 girls

| M1 for adding

A1 for 370 boys and girls
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Al
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NO.

SOLUTION
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=8><x>(xxyxyxyx§ XXXyXyXyXy |Miforexpanding, Al for all

Accept 8 X x? X y® X2 x x X y*

=3x3y’

correct
M1 for simplifying

Al for 3x3y7
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QUESTION SOLUTION
NO. B
3. (a)
B2 (— -:-ee) for diagram
n(S)=x nM=x+9| n()=60 |o.i correct entries
A .;V( “U ’1/2 5‘4/" x/ }S—/a.
€ q_l( evvprS ']/4
X=15+15+x +9- 15=60 M1ALl for adding and equating to
2x-6=60 60
2xf60+6' { M1 for solving
2x =66 ~| Al for x =33
x=33
nM)=15+33-15+9
=33+9 Ml
=42 Al for 42
;:7;-.; e »‘ l‘ ‘ 7 2 T e
e = R n(u)= 60 | B2 (=3 ee) for correet diagram
> with correct entries
(x,15,x +9, 60)
x+15+x+9=60 M1 for adding and equating to 60
2x +24 =60 M1 for solving
2x=60-24
2x =36 Al for 18
x=18 M1 for adding
n(S)=18 +15=33 Al for 33
n(M)=18+9+15=42 Al for 42
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STION SOLUTION MARKS
(a)(ii) n(S)only=33-15=18 B1 for either 18 or 27
n(M)only =18 +9
=27
n (Exactly one subject) = 18 + 27 = 45 B1 for 45
P (Exactly one subject) = z—: i
3
% | Al for =
=2 4
(®) [x+6x+3y+18
=x(y+6)+3(y+6
PR 43 (L10) M1 (one factor correct)
=t B4 6 Al for all correct
Al(x+3) (v +6)

[15 Marks]
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QUESTION SOLUTION MARKS
NO.
4. @ | 250% = 250 M1 ratio
= M1 simplifying
=5 or2l Alfor > or2;
2 2
() | 180-4x+107=3x Bl for 180 — 4x
287="1Tx M1 for equating
oy "’:;7 M1 for solving
=41° Al for x =41
© [2+ i—:-:— -79)
e AT, St - M1 for—mlﬁplyingbyz
R - o S PR (L GO = e e
I R et st U PP ..
I SN i ? £l ) e T e ; - ““.
- = 64X6 -~ -| M1 for multiplying by
3 64%6 (uxﬁ
7 18x7 15x7
= 2’;1‘7"2 M1 for simplifying
_ 256 11 Al for 22 or 722
Moo 73—5 35 35
I A & W o |
@ [a=(1) 7= (%)
ot o ¢ 4 L
gerem (_1) + (—5) M1 for substituting
_(7+4
—14=5 M1 for simplifying, one
component correct
= [11 11
(2 Atfor (1
[15 Marks)
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NO SOLUTION MARKS
5 .
G @ (l) Graph mm(- ; ee) for axes
(i1) [ Plotting points B3 (—1ee) for plotted points
(ifi) | Joining points with straight line HL S Mesigh s
(iv) Gradient: 1:_—_10 or equivalent B1 for right-angled triangle
- 12
4
=3 Bl for3
) i—_'_: = 3 or equivalent M1
y-6=3(x-3) oAk
y-6=3x-9
y=3x-3 Y
L ® |y > | B2(~3 e )for the exponents -
T 30k B x4 X 2 = 25 X 25 X 22 X 21
o ki b M1 (applying law of indices)
=211 Al for 211

[15 Marks]
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(To be fastened together with other answers to paper)
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QUESTION

SOLUTION
NO.
6. (a) Marks Tally Frm_FT
I / T T
2 " 4 8
3 " 3 9
4 1" 4 16
5 1 2 10
6 /" 2 12
7 HH I 7 49
8 " 2 16
; If=25 | Ifx=121
(b) | (i) mode = 7marks

e —

(ii) median = 5 marks

(i) Mean =

TR 25

MlM(—%ee) for fx
BlforIf = 25
MiAl forEfx = 121

B1 for 7
MI1Al fors
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